

Canada West Harvest Centre

2727 North Service Road West
Swift Current, SK S9H 5M1 CA

Phone: (306) 778-2300 Fax: (306) 778-3399
Email: info@cawhc.com
Web site: cawhc.com

SERVICE QUOTE - DO NOT PAY

Quote: 03-6665
Date: 8/15/2023

PO:
CustId: [REDACTED]

Cust Email: [REDACTED]
Phone: [REDACTED]
Salesperson: [REDACTED]
User: [REDACTED]

Bill To: [REDACTED]

Ship To: [REDACTED]

Opened: 8/15/2023
Work Order No: 03-
Pickup Date:
Unit No: 14676
Unit Serial: 75001705
Unit Desc: 455RC Uniwrap Baler 2021 (Heck)
Unit Meter: 7,300.0 Bales

Responsible Tech: TRabe
My Ref: 75001705
Delivery Date:
Unit Make: Claas
Unit Model: 455RC
Unit Tag: N14676

| Item | Type | Description | Qty | Tax | Price | Discount | Net Price |
|---------------------|------|--|--------|-----|------------|-----------------------|-------------------|
| Inspection | | | | | | | |
| | | Inspection | | | | | |
| | SL | Customer Shop Labour | | | | | \$1,350.00 |
| | SS | Shop Supplies | 1.0000 | Y | \$121.50 | | \$121.50 |
| | | | | | | Segment Total: | \$1,471.50 |
| Bale tipper | | | | | | | |
| | | Bale tipper is twisted Pins do not line up to lock it lock is off and bent plastic wheel is cracked | | | | | |
| | SL | Customer Shop Labour | | | | | \$720.00 |
| 13283231 | PA | BALE TWISTER | 1.0000 | Y | \$6,006.49 | | \$6,006.49 |
| 13283131 | PA | THREADED ROD | 1.0000 | Y | \$448.02 | | \$448.02 |
| 13283220 | PA | PIN | 1.0000 | Y | \$110.81 | | \$110.81 |
| 13283220 | PA | PIN | 1.0000 | Y | \$110.81 | | \$110.81 |
| 8623980 | PA | WASHER | 1.0000 | Y | \$509.61 | | \$509.61 |
| | SS | Shop Supplies | 1.0000 | Y | \$64.80 | | \$64.80 |
| | | | | | | Segment Total: | \$7,970.54 |
| Safety frame | | | | | | | |
| | | Safety frame is broke off re install frame and weld onto main frame as bolts are pulled out replace broken lights and switches | | | | | |
| | SL | Customer Shop Labour | | | | | \$900.00 |
| 2370430 | PA | WASHER | 4.0000 | Y | \$0.13 | | \$0.52 |
| 0118480 | PA | SWITCH KNOB | 1.0000 | Y | \$12.46 | | \$12.46 |
| 0118531 | PA | SWITCH ASSY. | 1.0000 | Y | \$264.90 | | \$264.90 |
| 8357910 | PA | LIGHTING | 1.0000 | Y | \$77.29 | | \$77.29 |
| | SS | Shop Supplies | 1.0000 | Y | \$81.00 | | \$81.00 |

Canada West Harvest Centre

2727 North Service Road West
Swift Current, SK S9H 5M1 CA

Phone: (306) 778-2300 Fax: (306) 778-3399
Email: info@cawhc.com
Web site: cawhc.com

SERVICE QUOTE - DO NOT PAY

Quote: 03-6665
Date: 8/15/2023

PO:
CustId: [REDACTED]

Cust Email: [REDACTED]
Phone: [REDACTED]
Salesperson: [REDACTED]
User: [REDACTED]

Bill To:

Ship To:

| | | | | | | Segment Total: | \$1,336.17 |
|---|----|----------------------|---------|---|------------|----------------|------------|
| Pickup Roller | | | | | | | |
| Front Pickup Roller is dented up Replace Roller Float stopper is bent over Replace bracket | | | | | | | |
| | SL | Customer Shop Labour | | | | | \$540.00 |
| 8556340 | PA | ROLLER | 1.0000 | Y | \$1,272.33 | | \$1,272.33 |
| 6104480 | PA | BEARING LOCK COLLAR | 2.0000 | Y | \$48.42 | | \$96.84 |
| 6104471 | PA | LOCK COLLAR | 2.0000 | Y | \$10.15 | | \$20.30 |
| 8583860 | PA | STOP | 1.0000 | Y | \$104.83 | | \$104.83 |
| | SS | Shop Supplies | 1.0000 | Y | \$48.60 | | \$48.60 |
| | | | | | | Segment Total: | \$2,082.90 |
| Pickup | | | | | | | |
| Pickup drive is apart Bearings on the pickup bars need replacing 20 teeth 2 bands chain is missing Put all missing pieces back | | | | | | | |
| | SL | Customer Shop Labour | | | | | \$1,440.00 |
| 8483820 | PA | DISC CAM | 1.0000 | Y | \$763.50 | | \$763.50 |
| 6160660 | PA | BEARING LOCK COLLAR | 1.0000 | Y | \$60.66 | | \$60.66 |
| 2445722 | PA | SPRING PIN | 4.0000 | Y | \$2.72 | | \$10.88 |
| 9713490 | PA | CONTROL CRANK | 4.0000 | Y | \$247.89 | | \$991.56 |
| 2139191 | PA | GUIDE ROLLER | 4.0000 | Y | \$29.53 | | \$118.12 |
| 2447670 | PA | PARALLEL KEY | 4.0000 | Y | \$2.60 | | \$10.40 |
| 2351510 | PA | CIRCLIP | 4.0000 | Y | \$0.11 | | \$0.44 |
| 9182380 | PA | SPRING TINES | 16.0000 | Y | \$11.59 | | \$185.44 |
| 2332701 | PA | ROLLER CHAIN | 1.0000 | Y | \$160.78 | | \$160.78 |
| | SS | Shop Supplies | 1.0000 | Y | \$129.60 | | \$129.60 |
| | | | | | | Segment Total: | \$3,871.38 |
| hyd leak | | | | | | | |
| hyd leak hose from T1 port on main block leaking replace hose | | | | | | | |
| | SL | Customer Shop Labour | | | | | \$270.00 |
| 13280880 | PA | HOSE PIPE | 1.0000 | Y | \$231.08 | | \$231.08 |

Canada West Harvest Centre

2727 North Service Road West
Swift Current, SK S9H 5M1 CA

Phone: (306) 778-2300 Fax: (306) 778-3399
Email: info@cawhc.com
Web site: cawhc.com

SERVICE QUOTE - DO NOT PAY

Quote: 03-6665
Date: 8/15/2023

PO:
C_____

Cust Email: _____
Phone: _____
Salesperson: _____
User: _____

Bill To:

Ship To:

| SS | Shop Supplies | 1.0000 | Y | \$24.30 | \$24.30 |
|--|------------------------------|--------|---|------------|-----------------------------------|
| | | | | | Segment Total: \$525.38 |
| PTO shields | | | | | |
| PTO shields are broken Replace | | | | | |
| 1391110 | SL Customer Shop Labour | | | | \$180.00 |
| | PA PROTECT.FUNNEL | 1.0000 | Y | \$59.85 | \$59.85 |
| 8614900 | PA UNIVERSAL DRIVE SHAFT HAL | 1.0000 | Y | \$1,024.26 | \$1,024.26 |
| 8614890 | PA UNIVERSAL DRIVE SHAFT HAL | 1.0000 | Y | \$552.41 | \$552.41 |
| | SS Shop Supplies | 1.0000 | Y | \$16.20 | \$16.20 |
| | | | | | Segment Total: \$1,832.72 |
| Labor: \$5,400.00 Parts: \$13,204.59 \$486.00 | | | | | |
| Totals | | | | | |
| | | | | | Sub Total: \$19,090.59 |
| | | | | | Total Tax: \$954.53 |
| | | | | | Invoice Total: \$20,045.12 |



Disclaimer

The information contained in this folder has been provided by the consignor and had not been certified by Ritchie Bros. Auctioneers

Ritchie Bros. Auctioneers in no way certifies the completeness or accuracy of this information

Please inspect the equipment. It is "sold as is" no warranties made or implied

Brennan LeBlanc
Divisional Operations Manager
Western Canada Agriculture